EE Pl

B e A (8 #f2) Sz SOR

Hinged Cantilever Type Sl and SO
for Planned Shinkansen (Welding Type)

SI 2
SK01020000
14Q, 792 L1 100 050)
1 GRERE)
’ @ @\ 350_200 8
g S e SANE
EiiE——— ———=—),
| ‘ = .| ) P
T | caK _/‘/ ! 0”3
| @ g-
| S — ! w
- 192 3 1200 ™
120
M
SO
SK01010000
100
14Q, 792 L1 \ (425)

@\(EEJ%EEEI)

L=950

S B & A =3 # B i
1 Al BT S vk 15 | STK490. fth
2 | BEOEEIEEE 15 | $S400, fth
3 | 7T—LEE£E 15 | $S400, fth
4 | ghigsI€8 15 | CACT702. {th

271




A &Y T 4wk

Bl er R A (8 HER) ST STOR

Hinged Cantilever Type STl and STO X2
for Planned Shinkansen (Welding Type) (432018)
STz
SK01040000
100
140, 792 L1 — 0\ (150)
! 50,200 -
| CSK 2
o4 HHHHHHHHHI #
| SARFAAAARAR
1 8
( ™ (@]
2 oK K
| & u?% -
' YA
Sl 19
12Q
STOR
SK01050000
14Qi . 792 L1
. (FREEE )
| | STIf ®\mgg5o
i | SK01050000 S
\ CSK 1 —
& HHHHHHHHH!
i AFAARARAR
I o
T } oSk > g
| i
2 i 792
120Q
B B W A = # B i &
1 | AIET vk 15 | STKA490, fth
2 | bEORBEXEEE 15 | SS400, fib
3 | 7T—LZEeE 15 | $5400. fih
4 | HhR51&£8 15 | CACT702. fth

218




A &Y T 4wk

e\ OUEATHIRA

Hinged Cantilever for “Shinkansen” Conpaund Catenary

14Q

L1

O
O
Lo
14Q
O
O
T ©
(@]
N
12Q
AL B & 4 = % #B fi&
1 AT S vk Of% 15| STK490. fth
2 AT Sk 1 15| STK490. fth

279




WA Al

FMA (&4 72)

Hinged Cantilever Type FM (Welding)

20

1

200

530

850

L

i B ® % = # B fim
1 BB TSk 15 | STKA490. th
2 | BEOEHRIEFEE 15 | SS400. ftt
3 | T—L%ESE 15 | SS400. 4
4 phigs €8 15 | CACT02, ftt

280




A ENT S Ibh  scesmammessn)

) ) ) X & SK01050000
Hinged Cantilever for SC at Signal Prospect
£ & P (432018)
@ . 447, L1 75
Oty BHHE 2
| ~—
| == =~. oo
T 1 ’/—/‘/ ! 33
P s L
_N T A,A—7 ( - 9
B M
@ ) 447 L1 75
L pueE| | <
| D
= ==
T : _/’/’ == <) o
e e G L
B Ny -~ s
L M
@ . 447, L1 75
PO#Z DEHE S
| <~
' = . oo
LN = 58
et 1]
TOF T\ AAT %!
B M
@ . 447 L1 75
PL 1t prwE|| &
| )
' Y = - o
4 1\ == /35
\ e of )
¥ ( L
< AL M
B M
AL B & 4 = M B’ g &
1 AT S vk Of% 15| STK490. fth
2 AE ISy 1 15| STK490. fth
3 AN Sy PO 15| STK490. fth
4 A S vk Pl 15| STK490. fth

281



AgI 57 vk

SCR (&)

Hinged Cantilever Type SC (Welding)

@ . L L1 .
Oft% ‘ BREE
- . 3
| ‘ | /,/’/‘ AN LrO) o
[ ’/, : L(_) g
T | ‘ | . — - I
b = on
[ = H — NLO)
_L | A(A—7
. M
@ L 2L L1 .
L ‘ B
O
e~ LO_
,/—
il = . 28
T ] i ol )
L = [ oh
[ = o | t@]
—= N
1 AVA'7
e 3500
@ 447 L1 ,
PO
E .
©
:!: B[ 3
[@)]
= ] o
[ o) _
P
RIS B & 4 = ® B " &
1 AgI 54wk Oz 15| STK490. ft
2 AEIS vk 15| STK490. ft
3 AJEIJ 54wk PO 15| STK490. ft

282




RE Pl

Hinged Cantilever Assembly Type V

[X]# SR01060000
(90150414-11)

L=710

o B ® % = # B " &
1 AT Sk 15 | STKA400. th
2 | "AIEII7S4 vk Oz 15 | STKA400. th
3 | aEISvk P 15 | STKA400. th

283



D37 v FEE

Support Fittings for Hinged Cantilever SE Connecting Pipe

[X] & SK08010000
(440005)

o B & 4 HE izl " &
1 L-TFEAER 25 | S$S400
2 | E-TFE/SATF 2 | STK400
3 | #sRUD 4 | SS400 L=500LA £ DB
4 | REEERMILER 2 SS400
5 | Triaravk 1 SS400 L=300LL £ DRF
6 FEIELER{GEE 2 SS400 L=300LL £ DRF
7 | BEAEELE 1 SS400
8 | RHEETER 1 $S400
9 EE 1 C5191
10 | RARILMETILFyE 8% | $5400 M16 x 90 x 75
11 | ARAJIVIZHRILE-Fvk 25 | $S400 M16 X 90 x 30 SP{
12 | RAAVIHRILL-Fyb 25 | $S400 M16 x 65 x 30 SP{
13 | [FhEsE 8 SUS304 M16




RE PR R

Support Fittings for Hinged Cantilever Type Chair

X & SK08040000
(441001)

1
|
i
L
|
|
|
T
|
|
|
|
RS W A HE # i &
1 | E-TF&/UF 25 | SS400
2 | E-TE/S4F 2 | STK400
3 | U7 4 | SS400
4 | BFEERMAILER 2 | SS400
5 | iftE8 4 | SS400
6 | BAEELE 1 $S400
7 | REEETE 1 $S400
8 | EE 1 C5191
9 | Friaroyk 1 $S400
10 | f@s/ 17 1 STK400
11 | RARIE-FIk 85 | $S400 M16 X 90 X 75 SW{F
12 | RA3VARILE-Fvk 25 | $S400 M16 X 90 X 30 SP1
13 | ARAavERILE-FYb 45 | $S400 M16 X 60 X 28 SP1




A gD Syt £ B

TH A P=106 P=220

Hinged Cantilever Support Fittings

for Drop Arm P=106 P=220

X & SK02070000
(430012)

|
=
|
— #_ =
|
| 38
150
100

25

4—-9¢17.5

_F

Y

- @ ( )HEIEP = 22087 F
76 45
P=106 EmE=:3.56 kg

i B & % M= # B " &

1 AIE 2 | SS400

2 | RAEELER 1 $S400

3 | RHEETE 1 $S400

4 | EE® 1 C5191

5 RAIVIRILE-Fub 25 | SS400 M16 X 90 X 30

6 | NARILLFUb 8% | $5400 M16 x 50

7 EhEE 8 SUS304 M16

8 | BlYEY 2 SUS304 b4 x40

286



ATVt EE sun

3
Hinged Cantilever Support Fittings for Steel Truss Pole %(842%%%13())000
2B
100 50 _,
) 217.5
i "
— rl"h‘lI N
T I ¥ LTHEB X UATERIERIC &3
- —
W
T8
100 45 217.5 4=017.5
|
3 |
& {% | O g
-t 1 | | ]
S8 8l —
| | | 1
& |
00
al
A
9, .50
|_| o
I_,I!I ﬁ—
;__lj
B B & 4 HE ® B " &
1 BftEBERAE 2 SS400 L65%x65% 8
2 BB EE 1 S$5400
3 BEEETE 1 S$5400
4 EE 1 C5191
5 NRAIVARILE-Fyk 2% | $5400 M16 % 90 X 30
6 | BlVEY 2 | SUS304 b4 %40




AT YR E R wous

X
Hinged Cantilever Support Fittings for Parallel Frame B # SK02060000
(430011)
2—017.5
50
8175 [ /) 4
J:EBJEH Ir;rl I/ :I
H> ol o©
TN T — O] ©
o 2 =2
Q\q/ II III 1
\\l +
S\ ¢
@/’ 67 | 50 | 50
2—917.5
-
B £ ]
. annal
(@] [e0] |
ol ©o —fF—1H—
T C :
[I
HH
RO
®17.5
HREE 371 ke
B B & 4 H=E B " &
1 BftEBERE 2 $5400 L65%x65x% 8
2 BB EE 1 SS400
3 BEEETE 1 S$5400
4 EE 1 C5191
5 NAEVERILEFUR 2% | $5400 M16 % 90 X 30
6 | BlVEY 2 | SUS304 b4 %40
7 NAERILL-FIk 45 | SS400 M16 X 50
8 (Lt £ 4 SUS304 M16




AT YR T EE sensn t2m

Hinged Cantilever Support Fittings B X & SK02140000
for Steel Truss Pole*Drop Arm, High-speed Rail “Shinkansen” (435007)

% &
oo
A
ﬁg

67

4—917.5

4 4

/

HEEE:600 ke

i & B & 4 = ® B " &
1 RftEE 2 SS400 t16
2 | RS EE 2 | SS400
3 | Ev 2 | SS400
4 | RAEELE 1 SS400
5 | RAEETE 1 $S400
6 EE 1 C6191
7 RAIVIRILE-Fub 25 | SS400 M16 X 120 X 30
8 | RARILMEITILFyb 8 | SS400 M16 X 70 X 50
9 EhEE 85 | SUS304 M16
10 | BIYEY 10 | SUS304 b4x40

289



A EFIT I YRNEUYTE R  suum vonnm

Hinged Cantilever Support Fittings for Parallel Frame, 5 [X] 2 SK02030000
High—speed Rail =~ Shinkansen (430006)
A
70 70 . B
© O
$17.5 | _n/
—_-E
(@] M~
-t g &
¥\ o ¢
4—¢17.5
A
50 70 . B
917.5
/ © © [ 5
II"'I"I"I ;
e s e
[Te)
v F\e < |
4—¢17.5 35| 40
223
200
2 A A B
3 - —HRBEET | oo | 40
S D /@ FRREEERS
~ = B | 250 | 65
$17.5 nb
B B & 4 = B " &
1 BftEBERE 2 $5400 L75%x75%9
2 BB EE 1 SS400
3 BEEETE 1 S$5400
4 EE 1 C5191
5 NRAIVARILE-Fyk 2% | $5400 M16 X 120 X 30
6 NAERILLETILF Uk 85 | 3400 M16 X 60 X 50
7 (Lt £ 8 SUS304 M16
8 | BElVEY 10 | SUS304 b4 %40




S (o]
I‘ Y/ \— TETSHrvhBE —hE A

Dropper for Hinged Cantilever and General

X & SP99050000

50

1
(@)
@]
L=1000 HAEE:1.26 kg
B B & A H= ## " &
1 FOows~ 1 SS400 d13




kY

FATH

AT S5V

Parallel Frame for Hinged Cantilever

[X]# SR01380000
(90150115-1)

7
QY _
10 940 10
960 10Q
30 75 360 7530 50 | 50
| 2 S
————-——-—-— g j;—
iV | = be
—% 25 |LE 30 %:q
1 ’ Jolp] Be
{ | 1 of 1
} | % g (, re
_)_ —
T+ ’ -0
t . I ®7
o I ’ 3 1 |E| o
S . : B
N o + o -
ul| o \. | ey O 1O li: I gr
T - __¢/¢‘——¢———|~——+——.¢ q—or il =| &
S5 . & 4 -V Vo el 0|
1 | I O bd <
f @ | P ME
T . T V1 | @ |
T T T Bd
| | | 3|
r I i O ]
g " i
1 ! 1 | o |
I ’ 1 B
| / __ v -
ool — ¢ - -—9-— o] |
' O
N~
#HOFE:8566 kg(/\UREBRC
B B & 4 HE ® B " &
1 B 2 $5400 [100x50 %5
2 | Lzt 3 | SS400 L75%x 75X 9
3 JL—k 6 $5400 9
4 NAERILL-FIk 125 | $S400 M16 % 50
5 RAEEEE) 25 | $S400
6 REAEE(TED 25 | $S400
7 ER = TAWIN 35| s5400 D27




4

1+
I

N
Il
I-]

(90150416-7)

[X]# SR01390000

Parallel Frame Type Steel Pipe AB

215_, 250

420
300
9

250,215

200

400
1350

20Q

200 @

i W N S i I M
|
0SlZ=H
2 = ) I e
- x$r __n—w_ . __  __  __ _ ]
7 Il
B2 . ¥
B O I R SN O B3
O
©
. -|-|ﬂ ..... I I | .
o T T T T (vl T T 4|
e | elle o],
I N o I ......... .
K D 2 5

[=¥¥=]
X | X
|
[{=f BN
x| x |58
w|w| X3
7726
| x [ x 5| %
olo|®e|
wlw| =8
—l=elalele
= 8
NEEEEES
SIS ST
(20 K22 Nl K720 K22 K%2]
(720 R720 K720 K720 K20 H%2)
il
%__»212221
o
Oz
L Ry AN
o B3 ol o] el
B B [ | 2 f 48 | 44
X [ W [ | |
%123456
Oz

293



